%

e =

X2 35

= T ] R R AR BR A S 1) 0 — B & B IE 9 2 R BI DI EIZ >V T

= HERERRBRBAGI O — 2 WET HRKEAEZKRD LB ED D,

ERk2 342 H 2 2 HiEH

S £ S

i



—HRAE S
= P (] R R R BR A 2 151 D — B & e 1E 9 % SR Al

= T E R RS (BRF 3 2 —HETRAFIFE 1 35) O—HE2RD LD
ICKIET D,

Ho&E2E P 470, 000M) #2500, 000H]
Hf 120, 000M) #7130, 000M) Ickdb,

B2 1 R&EBHRUNSOEH SR 1470, 000M] 2 T500, 000HM]
iz, 1120, 000M) #7130, 000M] IT&k®D,

— N

. FIZE 3

£ Al
(K478 A )
1 Zo%FE, Fk2 34 A1 BrbHETT 5,
(38 A X 53)
2 ZOFRHBNC K DWIER O = W ERAERERRBL LA OFLEIL, FERk 2 3FEL

s

w
% DAEFE Sy O E B FERR B O W T A L, Yk 2 2 455 £ ToE B
BREBLIZ DWW TIE, Z2BRERiOFNIZ X5,



